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0... 4 |0.0104 11 |21 74 09 13 081 13 093 71 24
4... 8 |0.0285 93|14 55 035 12 037 13 034 69 19
8... 12 | 0.0426 85|13 44 037 12 12 11 034 67 068
12... 16 | 0.0538 83|12 42 065 13 024 11 042 69 0.12
16... 22 | 0.0603 781091 31 047 12 08 11 032 68 0.10
22... 28 |0.0732 72108 28 036 12 091 1.0 033 63 0.6
28... 37 |0.0788 55066 2.0 023 13 064 1.1 037 48 048
37... 52 |0.0701 36054 14 014 13 078 1.0 045 25 0.6l
52... 85 | 0.0375 271050 1.3 017 13 060 1.1 078 0.89 0.85
85... 160 | 0.00824 30/071 1.8 003 14 014 15 1.1 009 042
160... 250 | 0.001070 57|18 48 036 13 042 17 067 0.17 074
250...1000 | 0.0000328 10 37 90 029 13 054 1.6 0.70 030 0.35



